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GCSE Mathematics IMAO
Formulae: Higher Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

. 1
Volume of prism = area of cross section x length Area of trapezium = > (a+ b)h

fe—a—]

h
3

b P

A

1
Volume of sphere = ﬂmf3 Volume of cone = gmfzh

Surface area of sphere = 477> Curved surface area of cone = 77/

p

I\ |
N e

In any triangle ABC The Quadratic Equation

c The solutions of ax? + bx +c=0
where a # 0, are given by

b @ DN dac)

2a
A B

Sine Rule .a = b =_¢
sind sinB  sinC

Cosine Rule ¢ = b? + ¢2— 2bc cos 4

Area of triangle = % ab sin C




Answer ALL questions.
Write your answers in the spaces provided.
You must write down all stages in your working.

You must NOT use a calculator.

I Giventhat 1793 x185=331705
write down the value of

(a) 1,793 x 185

(b) 331705 +1.85 = 19300

(Total for Question 1 is 2 marks)

2 Mr Mason asks 240 Year 11 students what they want to do next year.

15% of the students want to go to college.
% of the students want to stay at school.
The rest of the students do not know.

Work out the number of students who do not know.
3 . - 3 04 = 24 stodew
D a4 = loxlqa 2

ioD 2 oo dowhs -
3 3, Lo _ 3xb0 - 80 shodew
¢ T_L_fx Lo = U
24D~35—’g©

(2 e st D.é stodonks =

e

24 stodenls

...... A

(Total for Question 2 is 4 marks)




3 Sixteen babies are born in a hospital.
Here are the weights of the babies in kilograms.
24 27 35 44 45 41 44 28
4138 38 42 33 30 3.7 337

Show this information in an ordered stem and leaf diagram.

Key:
. 2T means
4 5 .

(J)
S =
e

Qo | o] 00

£
_—
| i

(Total for Question 3 is 3 marks)

4 (a) Expand 32+

(b) Expand  3x(2x + 5)
9, , ) ({ . 2 -
6 2" +15T DX ‘”'L/S*L*
(c¢) Expand and simplify (m + 3)(m + 10)
> + [ope +dm + 30
mes+ I3m + 30
W+ 13m+ 30
(2)

(Total for Question 4 is 5 marks)
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5 Write 525 as a product of its prime factors.

GJLS
/ ™\
175 3
/\
35 S
/\
3+ S

525 = 3x SX Sx#

(Total for Question S is 3 marks)

6 Ed has 4 cards.
There is a number on each card.

12 6

The mean of the 4 numbers on Ed’s cards is 10

Work out the number on the 4th card.

246415+ 7

p
334 ¢ = loxy

= o

? — 40”3:5

1. 7

15 ?

Mean - Stim ‘5( datke values
Nuwmlaes L‘éf Aot Vel

(Total for Question 6 is 3 marks)
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5
(a) Translate shape P by the vector (_ 2)

@)




v

(b) Describe fully the single transformation that maps shape A onto shape B.

(Total for Question 7 is 5 marks)
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»8 Margaret has some goats.
The goats produce an average total of 21.7 litres of milk per day for 280 days.

I .
Margaret sells the milk in 5 litre bottles.

Work out an estimate for the total number of bottles that Margaret will be able to fill with
the milk.

You must show clearly how you got your estimate.

LV FL = 202 (isg) .

Nuwlses a;\!} Mmilk |p5Hly = Rox Doox 2
- \2ooo bl

(Total for Question 8 is 3 marks)

79  Matt and Dan cycle around a cycle track.

Each lap Matt cycles takes him 50 seconds.
Each lap Dan cycles takes him 80 seconds.

Dan and Matt start cycling at the same time at the start line.

Work out how many laps they will each have cycled when they are next at the start line
together.

LOWA VA ‘W\’V\.«QJH(K‘Q oa’i So Ci{'\/\cl ™)

lalkiso  lee ISt Aco &So 3o 35@45@1 Seo

Yaz 30 180 Ao 320 4so 520 S

(Total for Question 9 is 3 marks)




10 The diagram shows a garden in the shape of a rectangle.

4+ 3x

&
N

Diagram NOT
accurately drawn

x+6

All measurements are in metres.
The perimeter of the garden is 32 metres.

Work out the value of x

Porime e = (4 +37) «{—(éhtsar) +(1+6)+ & +§)

— Qx +20

P-32 .- Bx +26 = 3&

2 = 12
L = ._[_Z',: S = 1.9
3 2

L .= I“S

(Total for Question 10 is 4 marks)
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*11 Debbie drove from Junction 12 to Junction 13 on a motorway.

The travel graph shows Debbie’s journey.

A
40 | v | RN EE R
30 T -
,,,,, //
Distance from |- A
Junction 12 P2V T i e 7 G e e
(kilometres) A A A T
7,”),/"
10 Hpt A -
T
0 T — .
0 10 20 2y 30

Time (minutes)
lan also drove from Junction 12 to Junction 13 on the same motorway.
He drove at an average speed of 66 km/hour.

Who had the faster average speed, Debbie or Ian?
You must explain your answer.

Distanice */girmm, 2 = 15 - PO < m
S = %_ .
€
o ?’W"i%‘aﬂa :>P&d rf’w"’ Taw 1» 686 Km/l/\mu_

| for v S - 30 m
@/\r\/f,q,m,\_{)& «‘“a‘r.ud ‘-w Eﬁiﬂc’wl S — % - = /wv\

, : A4
S = 3,@ x 50 = 'Z x40 = Sxis = 15 l<m/1,,,~
24

(Deblrie 75 Km/hr Delghne iy fous i
T oo 58 lKwi | hr o ’/CM

(Total for Question 11 is 4 marks)
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. 1
12 On the grid, draw the graph of y = > x+ 5 for values of x from -2 to 4

— gy ,_‘;_’. +5“
L ) 2 1=C y ZXO

~ = 2 }j'i-
H:%%+g S 6

\
=\
Ni?-

(Total for Question 12 is 3 marks)
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*13 Here is a map.
The position of a ship, S, is marked on the map.

Scale 1 cm represents 100 m

Point C is on the coast.
Ships must not sail closer than 500 m to point C.

The ship sails on a bearing of 037°

Will the ship sail closer than 500 m to point C?
You must explain your answer.

’h lu(;x,u) »% ol meLo whoch ane ak Scomw F"b)w Fﬂm%ﬁ

b o ATt corde vadiug Swew .

L On o L:am“lv\ﬁ 027& +Hw *{Lu,}o (U Sal e loger
Hww Sovm &7 lgac,mum 4 d/uﬂi&% U el Hae
lotws if AL pinks at See i from €

(Total for Question 13 is 3 marks)
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14 2<n<3

(a) Represent this inequality on the number line.

(b) Solve the inequality 8x—3 > 6x +4

Qx ~€x =3 72 6 -86x +4

2 - 3 7/ 4—
2o -3 4> 4 +3
2x 7z T
3, ~ F
71>/?/2_ Ay o

(Total for Question 14 is 4 marks)

*15 One sheet of paper is 9 x 107 cm thick.

Mark wants to put 500 sheets of paper into the paper tray of his printer.
The paper tray is 4 cm deep.

Is the paper tray deep enough for 500 sheets of paper?
You must explain your answer.

Thickness 07; 500 5 heeds

-3
- 9x lec x D00

O
qx S xlo xlo

i
_ 45 xle
4.5 Che

o
.

P 244™ L 3 4(1%\ QJ,M,F
A‘qj J U S 9 qmemi’elr Haan 4 Cn

)oa./w &‘m«\j Ly het 'eV)DU/"L\ /far Soosheets

(Total for Question 15 is 3 marks)
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16 The normal price of a television is reduced by 30% in a sale.
The sale price of the television is £350

Work out the normal prioe of the television.
T]/\_(Z Sade /) e Oy cvwl;tj wortie TO A ?f Hrz-

no rwecl Pnu), NP = 20/ + 10 jo -
LIGDQ/Q) (Redvc,hm) (&f;laphca)

fo O/; 0;’f /\/@"Mﬁt/:»rice, - 350

I UF?KMP = 550
‘\/ NP - 3500 F
i?-vm?* - 500
(oo -

(Total for Question 16 is 3 marks)

6)({/\12/(‘ wAe tHtasd

Nov sl vaiua b oo /e

_P(?(—o/u s k350 )M—

350 =50 ~
. lo /s W 3“0
0% < |®DO/V A Soxle = £Seo

Nor mal Pm@ v £ Seo
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17 Sumeet has a pond in the shape of a prism.

0.5m

Diagram NOT
accurately drawn

The pond is completely full of water.
Sumeet wants to empty the pond so he can clean it.
Sumeet uses a pump to empty the pond.

The volume of water in the pond decreases at a constant rate.
The level of the water in the pond goes down by 20 cm in the first 30 minutes.

Work out how much more time Sumeet has to wait for the pump to empty the pond
completely.

Viletime é’r ek e be_:]fo»e decrease -

—————

3
\ (2405 2 x4 = 1.8
- 2
VL‘?’CU&I/M *f Nm'@/ c«?\f tor o] e reede —
.1 403
(I‘?; ~0-2)+ (05 07_) )l -
v L4 i

Poro un b % waltr L“’"‘f‘ed mt W 3o mn v L
\ . B - \ b = o 4w

0.4 mf> ,\)uw\?{d L domn -
?
\ ’L‘P M LAWA d ?VL v - L« /
Tl S DL CRE

- o4 (Total for Question 17 is 6 marks)
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18 Solve the simultaneous equations

3X | ax+7p =1

L(-X’ 3x+ 10y =15

|2z + 21y =
Tl tloy =
— 1y =

oy
—

\5{:3

Subsh Lz 323 o e

4«;(+ Tx3d = |

4-7[: - 20
‘jC':i—’S

_5% -

:1—3

19 Write these numbers in order of size.
Start with the smallest number.

DN~

: 0.5

(Total for Question 19 is 2 marks)
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20

P

Diagram NOT
accurately drawn

4x

A AP
B

ABCD is a square with a side length of 4x
M is the midpoint of DC.

N is the point on 4D where ND = x

BMN is a right-angled triangle.

Find an expression in terms of x, for the area of triangle BMN.
Give your expression in its simplest form

N ea @‘i oMN - BMKMI\/

B 2.
oM - B M
I
J162t pt = J2ox

e

MN = '\/1\)@14' pM™ = \/% -

u . = Vs x
Toxr = VZe e = Vaxs VAT =
B = JWXZ;\/EW— NCE
B
'\)—Lxﬁx‘:w{jbsgt
VB x V52
A{\efﬁ’(" 2 :ﬁg‘pd
,43«':«:51’m
5x%

(Total for Question 20 is 4 marks)
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21 The table below shows information about the heights of 60 students.

Height (x cm) Number of students
140 < x < 150 4
150 < x < 160 5
160 < x < 170 16
170 < x < 180 27
180 < x < 190 5
190 < x < 200 3

(a) On the grid opposite, draw a cumulative frequency graph

for the information in the table.

P
R

18




A
ol - s
- g <
50 | - 7
0 e § i
. f
Cumulative : l b -
frequency - ” HEN ENNE SRR .
30 - i :
g
20 | : s RSN + -
. / N
N . rf ,
e R V
10 ‘ i
| |
) \ \
L REeEen
EREREEEY AN NN Y u .
140 150 160 /1,\ 17 /Y180 190 200
eight {cm)
VG=135
L& Y
(b) Find an estimate M{(\Jﬂ“
(i) for the median,
acepk ‘1% . o em
(ii) for the interquartile range.
TRR= V& — LK
\ 68 — 1§S =l
accaf%z N ” ............ cm
@)
(Total for Question 21 is 6 marks)
19
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22 P and Q are two triangular prisms that are mathematically similar.

15 cm
y Diagram NOT
«—C ly dr
6 cm H </‘> fa accurately drawn
12 cm
Prism P Prism Q

Prism P has triangle ABC as its cross section.
Prism Q has triangle DEF as its cross section.

AC=6cm
DF =12 cm

The area of the cross section of prism P is 10 cm?.
The length of prism P is 15 cm.

Work out the volume of prism Q.
: iz 9
5 - — =
f= 7= )
| ’ i85 - 1580 Ccm
\,(#J{uw\.z, o;f P - loxids=
3
3
150 X 2
- 156 x %
- 1o

(i

2
[2 60 C(

(Total for Question 22 is 4 marks)
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13 Simplify _x_zf‘;("z_:?l_s

4 Cf,w + 5) ' ' 4

(= + 5> (7‘ ] 5)

4

s

(Total for Question 23 is 2 marks)
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24 Bill works for a computer service centre.

The table shows some information about the length of time, # minutes, of the phone calls

Bill had.
Time (f minutes) | 0<7/<10 | 10<¢<15 | 15<¢r<20 | 20<¢<30 | 30<¢< 45
Number of calls 12 15 13 18 3
sl 12zio=]i555=|i3+5= [|g2i1p=| 3 2i5=
: -9 0.2
On the grid, draw a histogram to show this information.
A
3
Frequency |
density T A 1
|
I
i - UHE‘P N [ :
0 10 15 20 25 30 35 40 45

Time (# minutes)

(Total for Question 24 is 3 marks)
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)5 The expression x> — 8x + 21 can be written in the form (x — a)* + b for all values of x.

(a) Find the value of a and the value of b.
2
(« —4) -16+2]
-
(f‘)c —_ QL) + 5 a= ... Z+ ......................

D= o
(3)

The equation of a curve is y = f(x) where f(x) = x* — 8x + 21
The diagram shows part of a sketch of the graph of y = f(x).

y

il y = 1)
M
0 T X

The minimum point of the curve is M.

(b) Write down the coordinates of M.

(’x - L{) L-f— S s a/Wadﬁ /ms} hve

()
x =4 j ~ 9o . | 8y
(Total for Question 25 is 4 marks)
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26 Fiza has 10 coins in a bag.
There are three £1 coins and seven 50 pence coins.

Fiza takes at random, 3 coins from the bag.

Work out the probability that she takes exactly £2.50 Pl = £3
(t)

3 2 ‘
9. + L ox =K 1O
) ‘%qu“é\_}(lo 1 8
2 G2 4z = /—%—é
7120
/26
.................................... Y 22 o S

(Total for Question 26 is 4 marks)
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27

Diagram NOT
accurately drawn

P a 0

PORS is a parallelogram.
N is the point on SQ such that SN: NO=3:2

_9
PO =a
._9
PS =D

—>
(a) Write down, in terms of a and b, an expression for SQ.

5—6‘5: S‘_}B?’)‘Fg gy —b‘f’él_,

N
SO = s
(1)
(b) Express ]ﬁ) in terms of a and b.
— — —7
NR = N& + &R
_—"7 7
T 2 g = 2 (a-b
—) —2 é;
GR = s =
NG - 2 (a-b) +b
2 Z a
. b-ibtl
_ 3Ly ia
s s [ (3b+2
NR = o ( 3btza ) .
/ / 3b 4 24) 5 ®
> (Total for Question 27 is 4 marks)
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28 The diagram shows a sketch of the graph of y = cos x°
Y 4

2 .

v

,._.2 L ot

(a) Write down the coordinates of the point 4.

(b) On the same diagram, draw a sketch of the graph of y =2 cos x°

(Total for Question 28 is 2 marks)

TOTAL FOR PAPER IS 100 MARKS
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